CHAPTER 7

REVIEW

1. Find the missing factor:
(8m®)(?) = 40m’

@ 32m? Sm?
S @ S0

2. Find the integral factors of 36.

@ 22.32 1,26, 18,36
TR 49

3. Find GCF (643, 24a, 154?)

3a 3
3aQ2a?+ 8 + 5a) @ 303

4. (b-52= (b-5Yb-5)
=S -5Sb+25
~0b+25

@ b2-25 - 10b+ 10
b2 +25 b2-10b+25

5. Identify the type of factoring used to factor:
36n*-25

@ GCF DIFF
LOIF @ PRIME




6. Factor completely: 36n*-25 7. Identify the type of factoring used to factor:
¥ -92+25y

8. Factor completely: 3*-9)2+y 9. Identify the type of factoring used to factor:
b2-7b+12

10. Factor completely: b*-7b+ 12 11. Identify the type of factoring used to factor:
4n*+9




12. Multiply: (n-7)n-7)
n=Tn-Tn+49
n*—|4n+49

13. Multiply: (3a-2)(a+5)
3% +]50-24-10

302+ 12a-10

14. Multiply: 2m -3)(2m + 3)

15. Factor completely: 4¢?-100
H(*-25)
4(crs)(< -5)

16. Factor completely: x> + 16x + 64

17. Factor completely: 2x? + 14x - 88
2(x*+ - 1)
20+ 1IN




18. Factor completely: 50d 3 - 2d 19. Factor completely: 1? + 36
24 (25¢*-1)

2654 +1Y(54-1) Prime

20. Factor completely: 3x% - 10x + 3

(3x — 1 Xx-2)




